Bid #PNC2114457B1 - West Regional Terminal ADA Site Improvements

Creation Date Aug 10, 2017 End Date Aug 22, 2018 2:00:00 PM EDT

Start Date Jul 12, 2018 5:17:30 AM EDT Awarded Date Not Yet Awarded

PNC2114457B101-01 Earthwork and Paving: Pavement/Concrete Removal							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sagaris Corp.	First Offer - \$10.00	800 / square yard	\$8,000.00	Υ	Υ		
		Supplier Product Co Supplier Notes:	ode:				
Continental Construction USA, LLC	First Offer - \$15.00	800 / square yard	\$12,000.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Primus Construction	First Offer - \$20.00	800 / square yard	\$16,000.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: BID BOND ATTACHED.					
C&I Construction and Design Inc.	First Offer - \$25.00	800 / square yard	\$20,000.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Advanced Service Management, Inc	First Offer - \$25.00	800 / square yard	\$20,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2114457B101-02 Earthwork and Paving: Excavation							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Primus Construction	First Offer - \$15.00	200 / cubic yard	\$3,000.00		Υ		
		Supplier Product Co Supplier Notes:	ode:				
Continental Construction USA, LLC	First Offer - \$15.00	200 / cubic yard	\$3,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C&I Construction and Design Inc.	First Offer - \$16.25	200 / cubic yard	\$3,250.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Sagaris Corp.	First Offer - \$18.00	200 / cubic yard	\$3,600.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Advanced Service Management, Inc	First Offer - \$33.00	200 / cubic yard	\$6,600.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2114457B101-03 Earthwork and Paving: Milling - 1 inch Average							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C&I Construction and Design Inc.	First Offer - \$6.25	600 / square yard	\$3,750.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Advanced Service Management, Inc	First Offer - \$6.50	600 / square yard	\$3,900.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Sagaris Corp.	First Offer - \$7.00	600 / square yard	\$4,200.00		Υ		
Product Code:		Supplier Product Co	ode:				

Agency Notes:		Supplier Notes:		
Primus Construction	First Offer - \$10.00	600 / square yard	\$6,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Continental Construction USA, LLC	First Offer - \$30.00	600 / square yard	\$18,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2114457B101-04 Earthwork and Paving: Superpave Asphaltic Concrete, Traffic C								
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doo						
Primus Construction	First Offer - \$135.00	100 / ton	\$13,500.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Advanced Service Management, Inc 👔	First Offer - \$185.00	100 / ton	\$18,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$187.50	100 / ton	\$18,750.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Continental Construction USA, LLC	First Offer - \$200.00	100 / ton	\$20,000.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Sagaris Corp.	First Offer - \$220.00	100 / ton	\$22,000.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

PNC2114457B101-05 Earthwork and Paving: Limerock							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA, LLC	First Offer - \$44.00	105 / cubic yard	\$4,620.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Sagaris Corp.	First Offer - \$50.00	105 / cubic yard	\$5,250.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
C&I Construction and Design Inc.	First Offer - \$67.50	105 / cubic yard	\$7,087.50		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Advanced Service Management, Inc	First Offer - \$68.00	105 / cubic yard	\$7,140.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Primus Construction	First Offer - \$90.00	105 / cubic yard	\$9,450.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

PNC2114457B101-06 Earthwork and Paving: Type F Curb and Gutter								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sagaris Corp.	First Offer - \$25.00	300 / linear foot	\$7,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Primus Construction	First Offer - \$35.00	300 / linear foot	\$10,500.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$43.75	300 / linear foot	\$13,125.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

Continental Construction USA, LLC	First Offer - \$45.00	300 / linear foot	\$13,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Advanced Service Management, Inc	First Offer - \$55.00	300 / linear foot	\$16,500.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

PNC2114457B101-07 Earthwork and Paving: Type D Curb								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Primus Construction	First Offer - \$14.00	300 / linear foot	\$4,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Sagaris Corp.	First Offer - \$20.00	300 / linear foot	\$6,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$35.00	300 / linear foot	\$10,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA, LLC	First Offer - \$40.00	300 / linear foot	\$12,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Advanced Service Management, Inc	First Offer - \$48.00	300 / linear foot	\$14,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2114457B101-08 Earthwork and Paving: Reset Existing Pavers							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sagaris Corp.	First Offer - \$10.00	100 / square yard	\$1,000.00		Υ		
		Supplier Product Co Supplier Notes:	ode:				
Advanced Service Management, Inc	First Offer - \$22.00	100 / square yard	\$2,200.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Continental Construction USA, LLC	First Offer - \$35.00	100 / square yard	\$3,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Primus Construction	First Offer - \$36.00	100 / square yard	\$3,600.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C&I Construction and Design Inc.	First Offer - \$37.50	100 / square yard	\$3,750.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2114457B101-09 Earthwork and Paving: Stabilized Sub-base							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA, LLC	First Offer - \$5.00	800 / square yard	\$4,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
C&I Construction and Design Inc.	First Offer - \$6.25	800 / square yard	\$5,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Advanced Service Management, Inc	First Offer - \$12.00	800 / square yard	\$9,600.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

Primus Construction	First Offer - \$15.00	800 / square yard	\$12,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Sagaris Corp.	First Offer - \$20.00	800 / square yard	\$16,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2114457B101-10 Earthwork and Paving: Finish Soil Layer - 6 inch thick									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA, LLC	First Offer - \$2.00	1000 / square yard	\$2,000.00		Υ				
		Supplier Product Co Supplier Notes:	ode:						
C&I Construction and Design Inc.	First Offer - \$2.50	1000 / square yard	\$2,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Advanced Service Management, Inc 👔	First Offer - \$7.00	1000 / square yard	\$7,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Sagaris Corp.	First Offer - \$12.00	1000 / square yard	\$12,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Primus Construction	First Offer - \$25.00	1000 / square yard	\$25,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PNC2114457B101-11 Earthwork and Paving: Adjust Utility Covers								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA, LLC	First Offer - \$200.00	10 / each	\$2,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Sagaris Corp.	First Offer - \$400.00	10 / each	\$4,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Primus Construction	First Offer - \$500.00	10 / each	\$5,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Advanced Service Management, Inc	First Offer - \$500.00	10 / each	\$5,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$625.00	10 / each	\$6,250.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2114457B101-12 Earthwork and Paving: 6 inch Concrete Sidewalk								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Primus Construction	First Offer - \$35.00	650 / square yard	\$22,750.00		Υ			
		Supplier Product Code: Supplier Notes:						
Sagaris Corp.	First Offer - \$50.00	650 / square yard	\$32,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA, LLC	First Offer - \$75.00	650 / square yard	\$48,750.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Advanced Service Management, Inc	First Offer - \$78.00	650 / square yard	\$50,700.00		Υ			

		Supplier Product Code: Supplier Notes:				
C&I Construction and Design Inc.	First Offer - \$87.50	650 / square yard	\$56,875.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2114457B101-13 Earthwork and Paving: Detectable Warning									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C&I Construction and Design Inc.	First Offer - \$31.25	90 / square foot	\$2,812.50		Υ				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Sagaris Corp.	First Offer - \$35.00	90 / square foot	\$3,150.00		Υ				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Advanced Service Management, Inc	First Offer - \$35.00	90 / square foot	\$3,150.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Primus Construction	First Offer - \$50.00	90 / square foot	\$4,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Continental Construction USA, LLC	First Offer - \$70.00	90 / square foot	\$6,300.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:	Supplier Notes:								

PNC2114457B101-14 Earthwork and Paving: Surface Pressure Cleaning									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C&I Construction and Design Inc.	First Offer - \$1.25	200 / square yard	\$250.00		Υ				
		Supplier Product Co Supplier Notes:	ode:						
Primus Construction	First Offer - \$3.00	200 / square yard	\$600.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Sagaris Corp.	First Offer - \$6.00	200 / square yard	\$1,200.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Continental Construction USA, LLC	First Offer - \$10.00	200 / square yard	\$2,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Advanced Service Management, Inc	First Offer - \$26.00	200 / square yard	\$5,200.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PNC2114457B102-01 Drainage: Inlets (Furnish and Install)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA, LLC	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Advanced Service Management, Inc	First Offer - \$4,550.00	1 / each	\$4,550.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Primus Construction	First Offer - \$5,200.00	1 / each	\$5,200.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
C&I Construction and Design Inc.	First Offer - \$5,625.00	1 / each	\$5,625.00		Υ				

I	,	laaa.				
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Sagaris Corp.	First Offer - \$8,000.00	1 / each	\$8,000.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

PNC2114457B102-02 Drainage: Manhole (Furnish and Install)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA, LLC	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ				
		Supplier Product C Supplier Notes:	ode:						
Advanced Service Management, Inc	First Offer - \$4,550.00	1 / each	\$4,550.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Primus Construction	First Offer - \$6,240.00	1 / each	\$6,240.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Sagaris Corp.	First Offer - \$8,000.00	1 / each	\$8,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
C&I Construction and Design Inc.	First Offer - \$13,750.00	1 / each	\$13,750.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

PNC2114457B102-03 Drainage: 18 inch RCP (Furnish and Install)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA, LLC	First Offer - \$80.00	70 / linear foot	\$5,600.00		Υ				
		Supplier Product Co Supplier Notes:	ode:						
C&I Construction and Design Inc.	First Offer - \$93.75	70 / linear foot	\$6,562.50		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Sagaris Corp.	First Offer - \$120.00	70 / linear foot	\$8,400.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Primus Construction	First Offer - \$140.00	70 / linear foot	\$9,800.00		Υ				
		Supplier Product Co Supplier Notes:	ode:						
Advanced Service Management, Inc 👔	First Offer - \$156.00	70 / linear foot	\$10,920.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PNC2114457B102-04 Drainage: Drainage Structure Modify								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA, LLC	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ			
		Supplier Product Code: Supplier Notes:						
Primus Construction	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
Advanced Service Management, Inc 🧝	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Sagaris Corp.	First Offer - \$4,000.00	1 / each	\$4,000.00		Υ			
Product Code:		Supplier Product C	ode:					

Agency Notes:		Supplier Notes:		
C&I Construction and Design Inc.	First Offer - \$4,375.00	1 / each	\$4,375.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

PNC2114457B103-01 Signing and Marking: Single Post and Sign, Relocate					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Advanced Service Management, Inc	First Offer - \$110.00	8 / each	\$880.00	Atton.	Y
		Supplier Product Code: Supplier Notes:			
Primus Construction	First Offer - \$120.00	8 / each	\$960.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Sagaris Corp.	First Offer - \$150.00	8 / each	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA, LLC	First Offer - \$150.00	8 / each	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$312.50	8 / each	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2114457B103-02 Signing and Marking: Remove Thermoplastic					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc.	First Offer - \$1.25	180 / square foot	\$225.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Primus Construction	First Offer - \$6.00	180 / square foot	\$1,080.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Continental Construction USA, LLC	First Offer - \$6.00	180 / square foot	\$1,080.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Advanced Service Management, Inc	First Offer - \$13.00	180 / square foot	\$2,340.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Sagaris Corp.	First Offer - \$15.00	180 / square foot	\$2,700.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2114457B103-03 Signing and Mar	Ting. The illopiasti	I JOHN 12 HICH	1		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Primus Construction	First Offer - \$3.00	350 / linear foot	\$1,050.00		Υ
		Supplier Product Code: Supplier Notes:			
Sagaris Corp.	First Offer - \$3.00	350 / linear foot	\$1,050.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C&I Construction and Design Inc.	First Offer - \$3.75	350 / linear foot	\$1,312.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Advanced Service Management, Inc	First Offer - \$9.80	350 / linear foot	\$3,430.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Continental Construction USA, LLC	First Offer - \$15.00	350 / linear foot	\$5,250.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PNC2114457B103-04 Signing and Marking: Thermoplastic Solid 24 inch					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Primus Construction	First Offer - \$4.00	340 / linear foot	\$1,360.00		Υ
		Supplier Product Code: Supplier Notes:			
Sagaris Corp.	First Offer - \$5.00	340 / linear foot	\$1,700.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$6.25	340 / linear foot	\$2,125.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA, LLC	First Offer - \$7.50	340 / linear foot	\$2,550.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Advanced Service Management, Inc 👔	First Offer - \$15.60	340 / linear foot	\$5,304.00	·	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2114457B103-05 Signing and Marking: Single Post and Sign (under 12 sf) (Furnish and Install)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sagaris Corp.	First Offer - \$300.00	4 / each	\$1,200.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Primus Construction	First Offer - \$350.00	4 / each	\$1,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA, LLC	First Offer - \$350.00	4 / each	\$1,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Advanced Service Management, Inc	First Offer - \$500.00	4 / each	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$625.00	4 / each	\$2,500.00	•	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2114457B104-01 Erosion Control:	Silt Fence				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sagaris Corp.	First Offer - \$2.00	380 / linear foot	\$760.00		Υ
		Supplier Product Code: Supplier Notes:			
Continental Construction USA, LLC	First Offer - \$2.00	380 / linear foot	\$760.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$2.50	380 / linear foot	\$950.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Advanced Service Management, Inc	First Offer - \$2.82	380 / linear foot	\$1,071.60		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Primus Construction	First Offer - \$9.00	380 / linear foot	\$3,420.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

PNC2114457B104-02 Erosion Control:	Baled Hay				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sagaris Corp.	First Offer - \$10.00	9 / each	\$90.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Continental Construction USA, LLC	First Offer - \$75.00	9 / each	\$675.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C&I Construction and Design Inc.	First Offer - \$100.00	9 / each	\$900.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Advanced Service Management, Inc 👔	First Offer - \$152.10	9 / each	\$1,368.90		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Primus Construction	First Offer - \$400.00	9 / each	\$3,600.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

DNO0444457D4 OF O4 I I I T	D 1/D	`			
PNC2114457B105-01 Landscaping: Tro	ee Removal (Pongam)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Advanced Service Management, Inc 👔	First Offer - \$639.60	1 / each	\$639.60		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Primus Construction	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Sagaris Corp.	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$1,250.00	1 / each	\$1,250.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Continental Construction USA, LLC	First Offer - \$5,000.00	1 / each	\$5,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2114457B105-02 Landscaping:	Tree Pruning				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc.	First Offer - \$375.00	1 / lump sum	\$375.00		Υ
		Supplier Product Code: Supplier Notes:			
Advanced Service Management, Inc 👔	First Offer - \$1,300.00	1 / lump sum	\$1,300.00		Υ
Product Code: Agency Notes:	••	Supplier Product C Supplier Notes:	ode:		
Sagaris Corp.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Primus Construction	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Continental Construction USA, LLC	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PNC2114457B105-03 Landscaping: Ilex Cassine							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sagaris Corp.	First Offer - \$500.00	3 / each	\$1,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Primus Construction	First Offer - \$558.00	3 / each	\$1,674.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Continental Construction USA, LLC	First Offer - \$900.00	3 / each	\$2,700.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Advanced Service Management, Inc	First Offer - \$910.00	3 / each	\$2,730.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
C&I Construction and Design Inc.	First Offer - \$1,750.00	3 / each	\$5,250.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2114457B105-04 Landscaping: Veitchia Montgomeryana							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sagaris Corp.	First Offer - \$390.00	2 / each	\$780.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Primus Construction	First Offer - \$558.00	2 / each	\$1,116.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Continental Construction USA, LLC	First Offer - \$800.00	2 / each	\$1,600.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Advanced Service Management, Inc 🧃	First Offer - \$895.00	2 / each	\$1,790.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C&I Construction and Design Inc.	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2114457B105-05 Landscaping: Sabal Palmetto								
Supplier	Unit P	rice	Qty/Unit	Total Price	Attch.	Docs		
Primus Construction	First Offer - \$30	0.00	2 / each	\$600.00		Υ		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Sagaris Corp.	First Offer - \$30	0.00	2 / each	\$600.00		Υ		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Continental Construction USA, LLC	First Offer - \$60	0.00	2 / each	\$1,200.00		Υ		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Advanced Service Management, Inc	First Offer - \$62	3.61	2 / each	\$1,247.22		Υ		
Product Code:			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
C&I Construction and Design Inc.	First Offer - \$87	5.00	2 / each	\$1,750.00		Υ		

	•
Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PNC2114457B105-06 Landscaping: Th	rinax Radiata				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Primus Construction	First Offer - \$800.00	1 / each	\$800.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Sagaris Corp.	First Offer - \$800.00	1 / each	\$800.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Advanced Service Management, Inc 👔	First Offer - \$1,039.35	1 / each	\$1,039.35		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Continental Construction USA, LLC	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:	1	Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$2,250.00	1 / each	\$2,250.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2114457B105-07 Landscaping: Viburnum Suspensum								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Primus Construction	First Offer - \$9.00	134 / each	\$1,206.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
Sagaris Corp.	First Offer - \$30.00	134 / each	\$4,020.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
C&I Construction and Design Inc.	First Offer - \$62.50	134 / each	\$8,375.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA, LLC	First Offer - \$70.00	134 / each	\$9,380.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Advanced Service Management, Inc 👔	First Offer - \$71.96	134 / each	\$9,642.64		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2114457B105-08 Landscaping: Hamelia Patens - Compacta								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Primus Construction	First Offer - \$8.00	9 / each	\$72.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Sagaris Corp.	First Offer - \$10.00	9 / each	\$90.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$12.50	9 / each	\$112.50		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Advanced Service Management, Inc	First Offer - \$19.19	9 / each	\$172.71		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Continental Construction USA, LLC	First Offer - \$70.00	9 / each	\$630.00		Υ			
Product Code:		Supplier Product Co	ode:					

Aganay Natas.	Cumplior Notos.
Agency Notes:	Supplier Notes:
7.gooj .10.00.	

PNC2114457B105-09 Landscaping: Jasmine Volubile							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Primus Construction	First Offer - \$8.00	90 / each	\$720.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Sagaris Corp.	First Offer - \$10.00	90 / each	\$900.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
C&I Construction and Design Inc.	First Offer - \$12.50	90 / each	\$1,125.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Advanced Service Management, Inc	First Offer - \$19.19	90 / each	\$1,727.10		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Continental Construction USA, LLC	First Offer - \$40.00	90 / each	\$3,600.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2114457B105-10 Landscaping: Codiaeum - Mrs. Iceton								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Primus Construction	First Offer - \$12.00	16 / each	\$192.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
Sagaris Corp.	First Offer - \$22.00	16 / each	\$352.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA, LLC	First Offer - \$50.00	16 / each	\$800.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$62.50	16 / each	\$1,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Advanced Service Management, Inc 👔	First Offer - \$71.96	16 / each	\$1,151.36		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

DNOSMANTED OF 11 Landsoning Trippensy Floridae							
PNC2114457B105-11 Landscaping: Tri	psacum Floridana	ı	I				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Primus Construction	First Offer - \$10.00	191 / each	\$1,910.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Sagaris Corp.	First Offer - \$10.00	191 / each	\$1,910.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
C&I Construction and Design Inc.	First Offer - \$12.50	191 / each	\$2,387.50		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Advanced Service Management, Inc 👔	First Offer - \$15.99	191 / each	\$3,054.09		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Continental Construction USA, LLC	First Offer - \$20.00	191 / each	\$3,820.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

PNC2114457B105-12 Landscaping: Chrysobolanus Icaco - horizontal							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C&I Construction and Design Inc.	First Offer - \$12.50	97 / each	\$1,212.50		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Primus Construction	First Offer - \$15.00	97 / each	\$1,455.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Sagaris Corp.	First Offer - \$22.00	97 / each	\$2,134.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Continental Construction USA, LLC	First Offer - \$35.00	97 / each	\$3,395.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Advanced Service Management, Inc 👔	First Offer - \$38.38	97 / each	\$3,722.86		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2114457B105-13 Landscaping: Ficus Microcarpa - Green Island							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Primus Construction	First Offer - \$8.00	55 / each	\$440.00		Υ		
		Supplier Product Co Supplier Notes:	ode:				
Sagaris Corp.	First Offer - \$10.00	55 / each	\$550.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C&I Construction and Design Inc.	First Offer - \$12.50	55 / each	\$687.50		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Advanced Service Management, Inc	First Offer - \$15.99	55 / each	\$879.45		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Continental Construction USA, LLC	First Offer - \$25.00	55 / each	\$1,375.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2114457B105-14 Landscaping: Schefflera Arboricola - Trinette								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Primus Construction	First Offer - \$8.00	29 / each	\$232.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
Sagaris Corp.	First Offer - \$10.00	29 / each	\$290.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Advanced Service Management, Inc 👔	First Offer - \$19.19	29 / each	\$556.51		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA, LLC	First Offer - \$40.00	29 / each	\$1,160.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
C&I Construction and Design Inc.	First Offer - \$50.00	29 / each	\$1,450.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2114457B105-15 Landscaping: Clusea Guttifera								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Sagaris Corp.	First Offer - \$22.00	16 / each	\$352.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$50.00	16 / each	\$800.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Continental Construction USA, LLC	First Offer - \$160.00	16 / each	\$2,560.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Advanced Service Management, Inc	First Offer - \$167.90	16 / each	\$2,686.40		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Primus Construction	First Offer - \$190.00	16 / each	\$3,040.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2114457B105-16 Landscaping: Trachelospermum Asiaticum - Minima								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Primus Construction	First Offer - \$5.00	690 / each	\$3,450.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:	1 1					
Sagaris Corp.	First Offer - \$5.00	690 / each	\$3,450.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Continental Construction USA, LLC	First Offer - \$8.00	690 / each	\$5,520.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$10.00	690 / each	\$6,900.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Advanced Service Management, Inc 👔	First Offer - \$12.79	690 / each	\$8,825.10		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2114457B105-17 Landscaping: Zamia Pumila									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Primus Construction	First Offer - \$19.00	295 / each	\$5,605.00		Υ				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Sagaris Corp.	First Offer - \$22.00	295 / each	\$6,490.00		Υ				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Continental Construction USA, LLC	First Offer - \$40.00	295 / each	\$11,800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
C&I Construction and Design Inc.	First Offer - \$50.00	295 / each	\$14,750.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Advanced Service Management, Inc 👔	First Offer - \$71.96	295 / each	\$21,228.20		Υ				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

PNC2114457B105-18 Landscaping: Nephrolepis Falcata								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Primus Construction	First Offer - \$9.50	90 / each	\$855.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
Sagaris Corp.	First Offer - \$10.00	90 / each	\$900.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
C&I Construction and Design Inc.	First Offer - \$16.25	90 / each	\$1,462.50		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Advanced Service Management, Inc 👔	First Offer - \$19.19	90 / each	\$1,727.10		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA, LLC	First Offer - \$35.00	90 / each	\$3,150.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2114457B105-19 Landscaping: St. Augustine									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Sagaris Corp.	First Offer - \$1.00	4650 / square foot	\$4,650.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Continental Construction USA, LLC	First Offer - \$1.50	4650 / square foot	\$6,975.00		Υ				
		Supplier Product Code: Supplier Notes:							
C&I Construction and Design Inc.	First Offer - \$1.88	4650 / square foot	\$8,742.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Primus Construction	First Offer - \$2.00	4650 / square foot	\$9,300.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Advanced Service Management, Inc	First Offer - \$4.63	4650 / square foot	\$21,529.50		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

PNC2114457B105-20 Landscaping: Certified Arborist								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA, LLC	First Offer - \$55.00	8 / hour	\$440.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
C&I Construction and Design Inc.	First Offer - \$125.00	8 / hour	\$1,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Sagaris Corp.	First Offer - \$150.00	8 / hour	\$1,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Advanced Service Management, Inc	First Offer - \$180.00	8 / hour	\$1,440.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Primus Construction	First Offer - \$200.00	8 / hour	\$1,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2114457B1--05-21 Landscaping: Root Barrier

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sagaris Corp.	First Offer - \$7.00	200 / linear foot	\$1,400.00		Υ		
		Supplier Product Code: Supplier Notes:					
C&I Construction and Design Inc.	First Offer - \$12.50	200 / linear foot	\$2,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Primus Construction	First Offer - \$20.00	200 / linear foot	\$4,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Continental Construction USA, LLC	First Offer - \$30.00	200 / linear foot	\$6,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Advanced Service Management, Inc 👔	First Offer - \$30.58	200 / linear foot	\$6,116.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2114457B105-22 Landscaping: In	rigation system compl	ete				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C&I Construction and Design Inc.	First Offer - \$11,634.38	1 / lump sum	\$11,634.38		Υ	
		Supplier Product C Supplier Notes:	ode:			
Sagaris Corp.	First Offer - \$18,000.00	1 / lump sum	\$18,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Continental Construction USA, LLC	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Advanced Service Management, Inc	First Offer - \$27,782.00	1 / lump sum	\$27,782.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Primus Construction	First Offer - \$32,000.00	1 / lump sum	\$32,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2114457B106-01 Lighting: Replace Single Head Fixtures with Twin Head								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Primus Construction	First Offer - \$1,600.00	2 / each	\$3,200.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
Advanced Service Management, Inc 👔	First Offer - \$2,073.50	2 / each	\$4,147.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
Sagaris Corp.	First Offer - \$2,500.00	2 / each	\$5,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA, LLC	First Offer - \$3,000.00	2 / each	\$6,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
C&I Construction and Design Inc.	First Offer - \$5,075.00	2 / each	\$10,150.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2114457B1--06-02 Lighting: Single Head Fixtures (Furnish and Install)

ot regional rominal	County Con					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Advanced Service Management, Inc	First Offer - \$1,976.00	3 / each	\$5,928.00		Υ	
		Supplier Product Code: Supplier Notes:				
Primus Construction	First Offer - \$2,200.00	3 / each	\$6,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Sagaris Corp.	First Offer - \$2,500.00	3 / each	\$7,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Continental Construction USA, LLC	First Offer - \$2,500.00	3 / each	\$7,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
C&I Construction and Design Inc.	First Offer - \$4,500.00	3 / each	\$13,500.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

BUSSIA 4 2 00 11 11 40 6		<u></u>			
PNC2114457B106-03 Lighting: 40 foo	concrete light poles	(Furnish and Install	1)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sagaris Corp.	First Offer - \$4,000.00	3 / each	\$12,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Advanced Service Management, Inc	First Offer - \$6,000.00	3 / each	\$18,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Primus Construction	First Offer - \$6,500.00	3 / each	\$19,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA, LLC	First Offer - \$7,000.00	3 / each	\$21,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$10,750.00	3 / each	\$32,250.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2114457B106-04 Lighting: LED Wall Packs (Furnish and Install)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sagaris Corp.	First Offer - \$300.00	12 / each	\$3,600.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
C&I Construction and Design Inc.	First Offer - \$891.25	12 / each	\$10,695.00		Υ	
		Supplier Product Code: Supplier Notes:				
Continental Construction USA, LLC	First Offer - \$1,000.00	12 / each	\$12,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Advanced Service Management, Inc 👔	First Offer - \$1,215.00	12 / each	\$14,580.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Primus Construction	First Offer - \$1,300.00	12 / each	\$15,600.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2114457B106-05	Lighting: Lighting	g Conductors				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

Primus Construction	First Offer - \$2.00	1000 / linear foot	\$2,000.00	Υ	
		Supplier Product Code: Supplier Notes:			
Sagaris Corp.	First Offer - \$2.00	1000 / linear foot	\$2,000.00	Υ	
		Supplier Product Code: Supplier Notes:			
Advanced Service Management, Inc	First Offer - \$3.91	1000 / linear foot	\$3,910.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA, LLC	First Offer - \$10.00	1000 / linear foot	\$10,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$11.88	1000 / linear foot	\$11,880.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2114457B106-06 Lighting: Lighting Conduit							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Primus Construction	First Offer - \$2.00	1000 / linear foot	\$2,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Sagaris Corp.	First Offer - \$2.00	1000 / linear foot	\$2,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Continental Construction USA, LLC	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C&I Construction and Design Inc.	First Offer - \$8.13	1000 / linear foot	\$8,130.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Advanced Service Management, Inc 👔	First Offer - \$22.59	1000 / linear foot	\$22,590.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2114457B106-07 Lighting: Pull B	ox				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA, LLC	First Offer - \$300.00	3 / each	\$900.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Sagaris Corp.	First Offer - \$350.00	3 / each	\$1,050.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Primus Construction	First Offer - \$400.00	3 / each	\$1,200.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Advanced Service Management, Inc 👔	First Offer - \$813.80	3 / each	\$2,441.40		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$2,437.50	3 / each	\$7,312.50		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2114457B106-08 Lighting: Grou	nd Rod				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

8/27/2018

Sagaris Corp.	First Offer - \$40.00	3 / each	\$120.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Advanced Service Management, Inc	First Offer - \$150.00	3 / each	\$450.00	Υ	
		Supplier Product Code: Supplier Notes:			
Primus Construction	First Offer - \$300.00	3 / each	\$900.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA, LLC	First Offer - \$500.00	3 / each	\$1,500.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$862.50	3 / each	\$2,587.50	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2114457B106-09 Lighting: Connect New lighting System to Existing Electrical System							
Supplier	Unit Price	Qty/Unit Total Price Attch. Docs					
Advanced Service Management, Inc	First Offer - \$1,620.00	1 / lump sum	\$1,620.00		Υ		
		Supplier Product Code: Supplier Notes:					
Primus Construction	First Offer - \$2,000.00	1 / lump sum	\$2,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Sagaris Corp.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C&I Construction and Design Inc.	First Offer - \$6,250.00	1 / lump sum	\$6,250.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Continental Construction USA, LLC	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

PNC2114457B107-01 Amenities: Trash Can							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Primus Construction	First Offer - \$200.00	6 / each	\$1,200.00		Υ		
		Supplier Product C Supplier Notes:	ode:				
Continental Construction USA, LLC	First Offer - \$650.00	6 / each	\$3,900.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Sagaris Corp.	First Offer - \$1,200.00	6 / each	\$7,200.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C&I Construction and Design Inc.	First Offer - \$1,375.00	6 / each	\$8,250.00		Υ		
Product Code: Agency Notes:		Supplier Product Consumplier Notes:	ode:				
Advanced Service Management, Inc	First Offer - \$2,095.00	6 / each	\$12,570.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

PNC2114457B107-02 Amenities: Benches					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Primus Construction	First Offer - \$1,200.00	9 / each	\$10,800.00		Υ

8/27/2018

		Supplier Product Code: Supplier Notes:			
Sagaris Corp.	First Offer - \$2,000.00	9 / each	\$18,000.00	Υ	
		Supplier Product Code: Supplier Notes:			
Advanced Service Management, Inc	First Offer - \$2,050.00	9 / each	\$18,450.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$3,000.00	9 / each	\$27,000.00	γ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA, LLC	First Offer - \$3,500.00	9 / each	\$31,500.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2114457B107-03 Amenities: Bike F					_				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C&I Construction and Design Inc.	First Offer - \$687.50	2 / each	\$1,375.00		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Continental Construction USA, LLC	First Offer - \$700.00	2 / each	\$1,400.00		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Sagaris Corp.	First Offer - \$900.00	2 / each	\$1,800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Advanced Service Management, Inc 👔	First Offer - \$938.00	2 / each	\$1,876.00		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Primus Construction	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

PNC2114457B107-04 Amenities: Bench Relocation								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc.	First Offer - \$125.00	2 / each	\$250.00		Υ			
		Supplier Product Co Supplier Notes:	ode:					
Advanced Service Management, Inc	First Offer - \$179.50	2 / each	\$359.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Primus Construction	First Offer - \$200.00	2 / each	\$400.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA, LLC	First Offer - \$250.00	2 / each	\$500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Sagaris Corp.	First Offer - \$500.00	2 / each	\$1,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2114457B107-05 Amenities: Trash Can Relocation					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Primus Construction	First Offer - \$100.00	2 / each	\$200.00		Υ

		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$125.00	2 / each	\$250.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Advanced Service Management, Inc	First Offer - \$150.00	2 / each	\$300.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Continental Construction USA, LLC	First Offer - \$250.00	2 / each	\$500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Sagaris Corp.	First Offer - \$500.00	2 / each	\$1,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2114457B107-06 Amenities: Exist	ing Prefabricated Sh	elter Removal				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C&I Construction and Design Inc.	First Offer - \$625.00	1 / each	\$625.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
Advanced Service Management, Inc 🧝	First Offer - \$1,400.00	1 / each	\$1,400.00		Υ	
		Supplier Product Code: Supplier Notes:				
Primus Construction	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Continental Construction USA, LLC	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Sagaris Corp.	First Offer - \$7,000.00	1 / each	\$7,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2114457B108-01 Miscellaneous: Maintenance of Traffic								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Advanced Service Management, Inc 👔	First Offer - \$3,000.00	1 / lump sum	\$3,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
Continental Construction USA, LLC	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
Primus Construction	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
Sagaris Corp.	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

PNC2114457B108-02 Miscellaneous: Clearing and Grubbing							
Supplier	Unit Price Qty/Unit Total Price				Docs		
C&I Construction and Design Inc.	First Offer - \$1,250.00	1 / lump sum	\$1,250.00		Υ		
Product Code:		Supplier Product C	ode:				

Agency Notes:		Supplier Notes:		
Continental Construction USA, LLC	First Offer - \$2,000.00	1 / lump sum	\$2,000.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Advanced Service Management, Inc 👔	First Offer - \$3,500.00	1 / lump sum	\$3,500.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Primus Construction	First Offer - \$4,000.00	1 / lump sum	\$4,000.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Sagaris Corp.	First Offer - \$55,000.00	1 / lump sum	\$55,000.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	

PNC2114457B108-03 Miscellaneous:	Mohilization					
Supplier Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Advanced Service Management, Inc	First Offer - \$3,000.00	1 / lump sum	\$3,000.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
C&I Construction and Design Inc.	First Offer - \$6,250.00	1 / lump sum	\$6,250.00		Υ	
		Supplier Product Code: Supplier Notes:				
Continental Construction USA, LLC	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Primus Construction	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Sagaris Corp.	First Offer - \$59,000.00	1 / lump sum	\$59,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2114457B109-01 Shelter: Cast in Place Small Shelter								
Supplier	Unit Pr	ice Qty/Unit	Total Price	Attch.	Docs			
Primus Construction	First Offer - \$15,000	.00 1 / lump sum	\$15,000.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Sagaris Corp.	First Offer - \$48,000	.00 1 / lump sum	\$48,000.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Continental Construction USA, LLC	First Offer - \$50,000	.00 1 / lump sum	\$50,000.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
C&I Construction and Design Inc.	First Offer - \$51,250	.00 1 / lump sum	\$51,250.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Advanced Service Management, Inc	First Offer - \$52,000	.00 1 / lump sum	\$52,000.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

PNC2114457B110-01 General: Payment and Performance Bonds, and Insurance							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA, LLC	First Offer - \$9,000.00	1 / lump sum	\$9,000.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					

Advanced Service Management, Inc	First Offer - \$10	0,000.00	1 / lump sum	\$10,000.00	Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
Sagaris Corp.	First Offer - \$12	2,300.00	1 / lump sum	\$12,300.00	Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
C&I Construction and Design Inc.	First Offer - \$14	4,062.50	1 / lump sum	\$14,062.50	Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
Primus Construction	First Offer - \$70	0,000.00	1 / lump sum	\$70,000.00	Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	

Bid Allowance f Continental Construction USA, LLC Bid Contact yulius negrin info@usacontinental.com Ph 305-305-9741 Agency Notes: Supplier Notes: Bid Contact Carlos Maldonado Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Ph 786-287-9903 Qualifications DBE Bid Bid Qualifications DBE Bid Bid Qualifications DBE Bid Bid Qualifications DBE Bid Allowance f Sagaris Corp. Supplier Notes: Bid Allowance f Sagaris Corp. \$494,938.00 (67/67 items) Bid Contact Mehrdad Mahmoudi Address 1847 N. University Drive Coral Springs, FL 33071	Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
f Primus Construction Bid Contact Raf JINADU Abbey264@aol.com Ph 954-817-2132 Supplier Code VC0000100555 Qualifications CBE DBE MBE SB SBE Bid Notes BID BOND ATTACHED. SEE ROLL 1. Agency Notes: BID BOND ATTACHED. SEE ROLL 1. Agency Notes: BID BOND ATTACHED. SEE ROLL 1. Altowance f Continental Construction USA, LLC S474,990.00 (67/67 items) Address 450 grand bay drive Rey biscayne, FL 33149 Agency Notes: Bid Contact yullus negrin Info@usacontinental.com Ph 305-305-9741 Agency Notes: Supplier Notes: Bid Contact Altowance f C&I Construction and Design Inc. Carlos Maldonado Allowance Ph 786-287-9903 Qualifications DBE Bid Bond Richard School Contact Ref Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Bid Contact S493,556.38 (67/67 items) Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Ph 786-287-9903 Qualifications DBE Bid Bond Richard School Contact Ref Supplier Notes: Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Agency Notes: Supplier Notes: Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Addre			,	
f Primus Construction Bid Contact Raf JINADU Abbey264@aol.com Ph 954-817-2132 Supplier Code VC0000100555 Qualifications CBE DBE MBE SB SBE Bid Notes BID BOND ATTACHED. SEE ROLL 1. Agency Notes: BID BOND ATTACHED. SEE ROLL 1. Agency Notes: BID BOND ATTACHED. SEE ROLL 1. Altowance f Continental Construction USA, LLC S474,990.00 (67/67 items) Address 450 grand bay drive Rey biscayne, FL 33149 Agency Notes: Bid Contact yullus negrin Info@usacontinental.com Ph 305-305-9741 Agency Notes: Supplier Notes: Bid Contact Altowance f C&I Construction and Design Inc. Carlos Maldonado Allowance Ph 786-287-9903 Qualifications DBE Bid Bond Richard School Contact Ref Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Bid Contact S493,556.38 (67/67 items) Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Ph 786-287-9903 Qualifications DBE Bid Bond Richard School Contact Ref Supplier Notes: Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Agency Notes: Supplier Notes: Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Addre	C	.t-		
Bid Contact Raf JINADU abbey264@aol.com Ph 954.817-2132 Supplier Code VC0000100555 Qualifications CBE DBE MBE SB SBE Bid Notes BID BOND ATTACHED. SEE ROLL 1. Agency Notes: Supplier Notes: BID BOND ATTACHED. SEE ROLL 1. Bid Allowance f Continental Construction USA, LLC \$474,990.00 (67/67 items) Bid Contact yulius negrin Info@usacontlinental.com Ph 305-305-9741 Agency Notes: Supplier Notes: Head Allowance f C&I Callo Maldonado angelina@cicdinc.com Ph 786-287-9903 Qualifications DBE Bid Bond			¢460,477,00 (67/67 ita wa	٠,٥١
abbey264@aol.com Ph 954-817-2132 Supplier Code VC000100555 Qualifications CBE DBE MBE SB SBE Bild Notes BID BOND ATTACHED. SEE ROLL 1. Agency Notes: Supplier Notes: BID BOND ATTACHED. SEE ROLL 1. Attch Allowance f Continental Construction USA, LLC \$474,990.00 (67/67 items) Bid Contact yulius negrin info@usacontinental.com Ph 305-305-9741 Agency Notes: Supplier Notes: Head Allowance f C&I Construction and Design Inc. Bid Contact Carlos Maldonado angelina@cicdinc.com Ph 786-287-9903 Qualifications DBE Bid Bond Gistatus: The bond ID from the bond does not match the bid number (PNC2114457B1).) Agency Notes: Supplier Notes: June 1 Address 1847 N. University Drive sagariscorpo@gmail.com Address 1847 N. University Drive coral Springs, FL 33071			•	is)
Qualifications CBE DBE MBE SB SBE Bid Notes BID BOND ATTACHED. SEE ROLL 1. Agency Notes: Supplier Notes: BID BOND ATTACHED. SEE ROLL 1. Bid Allowance f Continental Construction USA, LLC \$474,990.00 (67/67 items) Bid Contact yulius negrin info@usacontinental.com Ph 305-305-9741 Agency Notes: Supplier Notes: Head Allowance f C&I Construction and Design Inc. Bid Contact Carlos Maldonado angelina@cicdinc.com Ph 786-287-9903 Qualifications DBE Bid Bond (Status: The bond ID from the bond does not match the bid number (PNC2114457B1).) Agency Notes: Supplier Notes: Su	Did Contact	abbey264@aol.com		
Bid Allowance Supplier Notes: BID BOND ATTACHED. SEE ROLL 1. Head Altowance Supplier Notes: BID BOND ATTACHED. SEE ROLL 1. Attached Allowance Stondard See Roll 1. Bid Contact yulius negrin info@usacontinental.com Ph 305-305-9741 Agency Notes: Supplier Notes: Head Allowance Supplier Notes: Supplier N	Supplier Code	VC0000100555		
Agency Notes: Supplier Notes: BID BOND ATTACHED. SEE ROLL 1. Attached	Qualifications	CBE DBE MBE SB SBE		
Bid Allowance f Continental Construction USA, LLC Bid Contact yulius negrin info@usacontinental.com Ph 305-305-9741 Agency Notes: Supplier Notes: Supplier Notes: Bid Contact Carlos Maldonado angelina@cicdinc.com Ph 786-287-9903 Qualifications DBE Bid Bond (Status: The bond ID from the bond does not match the bid number (PNC2114457B1).) Agency Notes: Supplier Notes: Bid Allowance f Sagaris Corp. \$494,938.00 (67/67 items) Bid Contact Mehrdad Mahmoudi sagariscorpo@gmail.com Address 1847 N. University Drive Coral Springs, FL 33071	Bid Notes	BID BOND ATTACHED. SEE ROLL 1.		
Allowance f Continental Construction USA, LLC Bid Contact yulius negrin info@usacontinental.com Ph 305-305-9741 Agency Notes: Supplier Notes: Head Allowance f C&I Construction and Design Inc. Bid Contact Carlos Maldonado Address 14031 SW 143rd Court Unit 6 angelina@cicdinc.com Ph 786-287-9903 Qualifications DBE Bid Bid Status: The bond ID from the bond does not match the bid number (PNC2114457B1).) Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: I Supplier Notes: I Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Bid Allowance f Sagaris Corp. \$494,938.00 (67/67 items) Bid Contact Mehrdad Mahmoudi Sagariscorpo@gmail.com Address 1847 N. University Drive Coral Springs, FL 33071	Agency Note:	s:		Head Attch:
Bid Contact yulius negrin info@usacontinental.com key biscayne, FL 33149 Ph 305-305-9741 Agency Notes: Supplier Notes: Head Allowance F C&I Construction and Design Inc. Bid Contact Carlos Maldonado Address 14031 SW 143rd Court Unit 6 Miami, FL 33187 Ph 786-287-9903 Qualifications DBE Bid Bond (Status: The bond ID from the bond does not match the bid number (PNC2114457B1).) Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: F Sagaris Corp. \$494,938.00 (67/67 items) Bid Contact Mehrdad Mahmoudi Address 1847 N. University Drive Coral Springs, FL 33071				\$50,000.00
info@usacontinental.com Ph 305-305-9741 Agency Notes: Supplier Notes: Head A Bid Allowance f C&I Construction and Design Inc. Bid Contact Carlos Maldonado angelina@cicdinc.com Ph 786-287-9903 Qualifications DBE Bid Bond (Status: The bond ID from the bond does not match the bid number (PNC2114457B1).) Agency Notes: Supplier Notes: Supplier Notes: I Bid Allowance f Sagaris Corp. \$494,938.00 (67/67 items) Bid Contact Mehrdad Mahmoudi sagariscorpo@gmail.com Address 1847 N. University Drive Coral Springs, FL 33071	f Continenta	al Construction USA, LLC	\$474,990.00 (67/67 items)	
Bid Allowance f C&I Construction and Design Inc. Bid Contact Carlos Maldonado	ir	nfo@usacontinental.com		
Allowance f C&I Construction and Design Inc. Bid Contact Carlos Maldonado angelina@cicdinc.com Ph 786-287-9903 Qualifications DBE Bid Bond (Status: The bond ID from the bond does not match the bid number (PNC2114457B1).) Agency Notes: Supplier Notes: Bid Allowance f Sagaris Corp. Sid Contact Mehrdad Mahmoudi sagariscorpo@gmail.com \$493,556.38 (67/67 items) Miami, FL 33187 Miami, FL 33187 Ph 786-287-9903 Supplier Notes: I Address 1847 N. University Drive Coral Springs, FL 33071	Agency Notes	s:	Supplier Notes:	Head Attch:
Bid Contact Carlos Maldonado Address 14031 SW 143rd Court Unit 6 angelina@cicdinc.com Ph 786-287-9903 Qualifications DBE Bid Bond (Status: The bond ID from the bond does not match the bid number (PNC2114457B1).) Agency Notes: Supplier Notes: Bid Allowance f Sagaris Corp. \$494,938.00 (67/67 items) Bid Contact Mehrdad Mahmoudi Address 1847 N. University Drive sagariscorpo@gmail.com Coral Springs, FL 33071				\$50,000.00
angelina@cicdinc.com Ph 786-287-9903 Qualifications DBE Bid Bond (Status: The bond ID from the bond does not match the bid number (PNC2114457B1).) Agency Notes: Supplier Notes: Bid Allowance f Sagaris Corp. \$494,938.00 (67/67 items) Bid Contact Mehrdad Mahmoudi Sagariscorpo@gmail.com Address 1847 N. University Drive Coral Springs, FL 33071	f C&I Const	ruction and Design Inc.	\$493,556.38 (67/67	items)
Qualifications DBE Bid Bond (Status: The bond ID from the bond does not match the bid number (PNC2114457B1).) Agency Notes: Supplier Notes: Bid Allowance (\$50, \$50, \$494,938.00 (67/67 items)) Bid Contact Mehrdad Mahmoudi Sagariscorpo@gmail.com Address 1847 N. University Drive Coral Springs, FL 33071	Bid Contact	angelina@cicdinc.com		
Bid Bond (Status: The bond ID from the bond does not match the bid number (PNC2114457B1).) Agency Notes: Supplier Notes: Bid Allowance f Sagaris Corp. \$494,938.00 (67/67 items) Bid Contact Mehrdad Mahmoudi Sagariscorpo@gmail.com Address 1847 N. University Drive Coral Springs, FL 33071	Qualifications			
Agency Notes: Bid			ot match the bid number (PNC2114457B1).)	
Bid Stowance \$50, Allowance \$494,938.00 (67/67 items) Bid Contact Mehrdad Mahmoudi Sagariscorpo@gmail.com Address 1847 N. University Drive Coral Springs, FL 33071	,-pe '		·	Head
Allowance f Sagaris Corp. \$494,938.00 (67/67 items) Bid Contact Mehrdad Mahmoudi Address 1847 N. University Drive sagariscorpo@gmail.com Coral Springs, FL 33071	3,			Attch:
Bid Contact Mehrdad Mahmoudi Address 1847 N. University Drive sagariscorpo@gmail.com Coral Springs, FL 33071				\$50,000.00
sagariscorpo@gmail.com Coral Springs, FL 33071	f Sagaris Co	orp.	\$494,938.00 (67/67 items)
Ph 954-605-8204	S		-	

8/27/2018

Agency Notes:		Supplier Notes:	Head Attch:
Bid Allowance			\$50,000.00
f Advanced	Service Management, Inc	\$510,413.09 (67/67 items	s)
Bid Contact	Sonny Mohamed sonny.mohamed@gmail.com Ph 954-668-9234 Fax 305-916-1133	Address 2237 NW 77th Terrace Pembroke Pines, FL 33024	
Supplier Code	VC0000116321		
Qualifications	CBE DBE SB SBE		
Bid Bond	(Status: Authorized on Aug 22, 2018)		
Agency Note	es:	Supplier Notes:	Head Attch:
Bid Allowance			\$50,000.00

^{**} All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.